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20149 = 20l A LBEESH M A
SN BMDSD
Ha: BASSHE 7S
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(o
S EH B (BH) - MBAY - BAS Ol At o %Eﬁ HRE2
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101 e1214| 51,845 11,425 40,420
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O BMsts M2 (AZHHSE 2t3) 51,845
=T
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- Jis4g 840
- Hi 2 Xt 20,000 x1H x12& 240
- A A EH S
10,0002 *3 x 12 122 +10, 0002 x2H » 1H 600
*12€
- HAHZAY| 130,000 x2%H x12& 3,120
- A2t & 384,000 x2H x12& 9,216
- et Al
(1,359,000 1 x48A| 2t+1,306, 2902 x 1 %3 359
BAl 2 ) *84%*86%* 1/226
- 2oyl
24,125,000 x4 . 5%+23,074,0002 x4 . 5% 2,124
- nEgEa
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- MEE =
24,125,000 0. 7%+23,074,0002 *0.7% 331
- FoALEE =YD
24,125,000 *2.945%+23,074 ,000& =2 .945% 1,391
- LoE)euagEeeza
1,391,000 *x6.55% 92
- E=a s | 70,000 x23H x12& 1,680
201 et 105,592 102,968 2,624
01 AP 22| H| 93,192 100,568 AT ,376
O BMstSHE 29 200,000 x12& 2,400
O Zggy A23 5,192
- HMSISAHAEH Zet dodERIH EY
324,500 41 x43] 5,192
O HMstsTz ) =58 [ & 500,000 500
O HMstsgd: =& ZAlH|
7,000 x5H x3AI x12& 1,260
O BMIEZTAH BHss2 X
200,000 130 A~ x12& 31,200
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M BRI

H: PG F&X
©9: EHE S8 MNER T (29l 8)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
- HRIH? SSSHEUILN, SHAEEH
= 420,000 43| S x12& 20,160
- NESHE0R A 31,000 x13| & x12& 372
- 2ololag 3z 125,000 33| & x12& 4,500
- dY8stns® 30,000 #23| S x12& 720
- XS oAl AE
82,000 143 A7 +11,000& x153| & x12& 10,016
O EHOIX Zo¢e SXidl 869
- CHe(ge,st3) 28,6002 *54 143
- 2o gHyd =4 66,000& 1 JH 66
- AHEOIN AIEE2 55,000& x12& 660
O gRALANAE SA B4 10,667
- FHEAD|(24)), AEC2IX(14))
200,000,000 x8%+5/ 12 6,667
- G222 A AE SW
96,000,000 x10%*5/ 12 4,000
O &8X2A & NS 2HAIAE S X2
156,408,000 *10% 15,641
O EXNEEAAE SN2 17,193
- AEZ|XI(14) 25,000,000 *8% 2,000
- EXNEE SW 151,923,000& *10% 15,193
O MU= AIAE(DBMS) SXE
23,492,000 *10% 2,350
O EHOIXN SANE% 15,601
- NMH 404 44,060,000 *8% 3,525
- ZH Ol Xl SW
(100,966,000 +6,650,0002 *10/12& +13,500 11,326
,000& +6/12& ) *10%
- 2HY ZHO0IAl SW
18,000,000 *10%*5/12€ 750
O M2 SXNES 4,500,000 8% 360
O HAEHI(PC) SAE 404,007 ,000& *x5% 20,201
O HE®ZAa S8 518,795,000 5% 25,940
O Roo1aaez)| A4
(40,000,0002 422,000,000 8/ 12& +44,000,0 5,840
00 x5/12& ) x8%
403 X SH S X =0l & 76,630 74,843 1,787
02 2II2S0CHeCH& AL I 76,630 74,843 1,787
O Nesd ZSIBANAEY SRAES
1,066,431,000& *7% 74,651
O AR MlER2AIAE 29X 2|
1,979,000 1,979
TR 22X L YRS 223,550 625,214 A 401,664
201 et | 17,550 121,654 A 104,104




SA: BMDSD
My mos XA
€ §23E S8 dNFR #E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 17,550 121,654 A 104,104
O 228 2ZEHAH 2L 17,550
- MS-OFFICE 2010 351,000& 502 17,550
405 RHoHE S HI 206,000 488,560 A 282,560
01 AL EZFH S 206,000 488,560 A 282,560
O OA3 WAAAE 2= 95,000,000 95,000
O 3AXN ¢y MAH 2= 33,000,000& 33,000
O L% PC UM #¢ 1,300, 000 *60CH 78,000
FEEo & IHAHEEES 47,846 40,931 6,915
201 et 47,846 40,931 6,915
01 At 22l 22,970 24,016 21,046
O 8223 S/W 04 22,970
- BHEEL0IAA BA S/W B A(PC)
23,000& x800= 18,400
- BHEEO0IAA A S/W HA (M)
358,000& 5= 1,790
- AWHY XtEh S/W A4 2,780,000 2,780
02 =224l 24,876 16,915 7,961
O 2=t "2+ 83,446,000& *8% 6,676
O FULXAAE RXE
36,053,000 *8%+3/12& 722
O HABELESXNHAIAE RAE
19,315,000& 8% 1,546
O Y38AAE RIS 4,491
== 43,676,000& *8% 3,495
- EHOIXIE 21,340,000% *8%+7/12& 996
O EXJNLQMZlAAE SAES
26,981,000 *8% 2,159
O EZHAHAAHE X2 6,407
- AHE2HMA 47,080,000 *8% 3,767
- HEHIEZHA
132,000,000 *8%*3/12& 2,640
OPCIHAEBELSE &2 H
27,720,000 »10%+7/12& 1,617
O ZE208 Heze &84
21,560,000 »10%+7/12& 1,258
ANZ< Mol=2HAH 2= 17,714 17,794 A 80
= 4,025
- 13,689
201 Let249] 17,714 17,794 A 80
= 4,025
- 13,689
01 At 22/l 17,714 17,794 A 80




AN BHLDFH
Bu: yos 23
o9l HPSE S8 HUFE P CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O ANZ7 Mol=2HMH A5 2lA=
17,714,000& 17,714
= 4,025
T 13,689
ANZ7 BSIIBAIAE =4 WA 24,840 0 24,840
= 6,210
T 18,630
201 Let24E] 24,840 0 24,840
= 6,210
T 18,630
01 At 22l 24,840 0 24,840
O ANZF? SSIeAAE =&Y WA 2la
= 24,840,000 24,840
= 6,210
T 18,630
HE2HZH(BMNSI) 53,436 0 53,436
Jl= &3l 53,436 0 53,436
Jl2ZH (B4 D=0 53,436 0 53,436
201 Let24d] 14,436 0 14,436
01 At 22l 13,236 0 13,236
O BA2EIIE+8H| 40,000 x17H «12& 8,160
O BAII=gR4s A
7,000 <17 +341 <122 4,284
O ZgHIl &Y 264,000& *33| 792
02 =24l 1,200 0 1,200
O 2AI & FEHIK|XH 200,000 62 1,200
202 Odl 36,000 0 36,000
01 = LH o4 1l 36,000 0 36,000
O AJAIULAHYI 20,000 x14H » 103 x 122 33,600
O BMWEA S LAY
10,000 x2H 108 x12& 2,400
203 YR =2t 3,000 0 3,000
04 NI AL 3,000 0 3,000
O BA2ZYRF=2I 250,000 128 3,000




